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darkan enly one bubble (A or B or C or T}, whichever vou think is the comrect answer, on the Answer Sheet
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candichule omly.
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which equation is wrilten i
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[ 4 The simptilied form -.1f'-["|:;ln'. AR 3 B Y) corlaing
A upe variable
| B b variables
| O three variables
D) no variable as the expression reduces 1o | L L L L
5 | Which ol the follwing is true
A} The charzcterisiic eguation of 13 flip-Nap i5 0= D@ Uy
87 The characteristic eyuatian of T thp-llop 540 = N g
() The churacteristic sguation af 35 flip-fop s Q=50 R G
| _1inThe characierishic suuarion ol JE flip-flop is Che = B
|t'u A computer has 32-bit mstractions and 12-bit addresses. I there are 250 twa
| aIJ“.Jhé,EE imstructions, how many ohe-sddeess instinetions can he formulared? |
AT 2
| | 13y g2t
Cy 2 .
| %) £y R -
b Which of the fllowing statement i false
i A CISC architeciuse makes use nf variabie-length instruction formats |
B RISC erehitecturs has single-cyole atraelion execution
: () CISC archilectare supports relatively few addrossing modes |
| Tr7 1450 urchitecture has (ixed-length, casily dzcoded instruction format
i A non-pipeling system lokes 0 ns fo piocess o task, The seme task can be
| orocessed in a six-sepment pipeline with = clock cvele of 10 ns Whal is the
speecup ratio of the pipeling tor 1040 tasks?
Al 450
| B) 4.76
f ) 4.80
| 171 4.84




A memery svsteln contains 4 cache, 8 main memoery, and a virtoal memory, The ,
aecess time of the cache 5 5 ns and i has an 80 percent hit rate. The sccess Lime of
the main memory is 100 ns, and it has a 99.5 percent hit rate. The access time of

virlual memuory is 10 s, What is the average aceass tme of the hierarchy”
Ad 1HE24 ns

37 500995 s
7 000 e
(3200995 ns

[
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| In €., which ot the following operation can be applied on two poinler variables
A addilion
B sublraction
| Uy multiphcstion
L) division o
A Binary search tree is generated by inserling in order the following elements:
49, 15, 62, 5,20, 58,98, 3, 8, 37, 60, 25, 1)
The number of nodes in the Teft and right sub-tree of the roof Tespectively are
A7 S
B %, 7
Cy8, 4
[ 4. &

AT O o )
B O loyg n)
] {_}[111

D Ofn*)

Diata is stored 10 a circular array with N memory cells. 17 Rear < Front then number
ol elements in torms of rear and Fonl are

A) M Front-Reur- 1

By M4+-Front+Reart |

) N-Front-Rear—|

) M=Front+Rear -]

Which of the following is generully conaidered the biggest open nnn:'i anresclved
question in theoretica] compuler stienee, where I and NP arz complexity classes
AlisP=HNP7

Bils P NP?

CiIaNPeP?

DlsF+NP=3

Comsider {0 9T{n/3H+n
A) Timy 0in’y

By Tinv=tin”

) Tinl=Oin’

) Tin)=0n)

{2



|6 The way a card game player arranges his cards as he picks them up one by one is
an example of
A) Merge sort
B} Selection sort
1 Insertion sort
| D1 Bubble sort

Which of the follewing atporithm design technique is used in guick sort algorithm
| A} Gireedy Approach

. B Backtracking

| ) Dynamic Programming '
B | 0 Dhivide and Conguet S——

13 | INS service i3 available at which of the fallowing port?
A) 51

B) a3

CL57F

—
e |

19 T Which of the follawing is responsible for retrieving mails from remuole mail server
AY DINS

B) SMIT

) FOP3

5 BMILIY . . N—
20 Which of the fxllowing represents a valid comment in XML
A} <1--This i5 a comment ~-=

B} <?—This is & comment --= !
C} =#—This is a comment -
Oy <i@--This is u comment --=
7 == .., </UL> tag is used o
A) display Lhe numbered list
B underline the text

| ) underling and hakld the Ext
1) display the bulleted List = 5 1
a7 Cross compiler is a compiler capable of
A creating executahle code for multiple platfices simuitarseonely
B} cresting executable code for a platform ather than the one an which the |
compiler is funning

C creating executable code that can be uzsed for ull plattorms

| 1) creating machine dependent as well as maching independent executable code
| Lesical analysis is also called

| A) Seanning

B) Parsing

) Synlax analysis
) Semantic analysis I , " = iy
34 | Which af the [ellowing phase manipulates perse iree @ verify symbol end type
informialicn

A Intermediate Code Generation

I¥) Diptimmization

O Semantic analysis
i | [ Syntax analyais

rul
L]
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Whick of the fllowing i3 true
&) LR parsers are a Lype of bollom-up parsers
| BY LK parsers ans o tepe of Wop-down parscrs
| U LR parsers ars a type of middle-out parsers
| 13} LR parsers can be of both types i.e. top-down as well ax boutem-up

35

26 Which of the following is concernexd with handling digital data
A ADM
0 TDM
O WDk
1) TOM _ 3
[Z3 If there are ™ routers trom soures o destination, which of the llowing closely

represents total end to end delay in sending packet P (L=*number of bis in the |
| packel E—=* ransmission ranc)
AJ(ZENFLIR
By (N*LVR
C) {H*LY2*R
LR ) 3
1iow many cheraclers per seconds (7 bits 1 1 parity) can be teansmitted over a 2400
bps line if the transfer is asynchronons (1 stactand | stop i)y
A) 240
) 480
C 120
[ Dy3on :
[ 2% Frror defection al duta link level is achieved by
A Bl sufting
By Hamming Codes
Cj CRC
133 Bgualization i . ) .
il TITTPS service is usoally available st which port ,
A1 352
EYE-{E
) 10D
D) 443 s _ :
3l Which of the follewing situation happens if 8 non-reCUrEve mLeX 12 locked more
than cnce"
A) | Foadlock
) Starvaticn
) Aping
D) Abnormal Termmation ) o = : R Tl
a2 At a particular time af computetion the value of & couating semaphore Ls L
20 P operations and 13 Y operations were completed on this semaphoe, The |
resulting value of the semaphare is
- T
oy 7
o
D1

(%)
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36

| Determine the number of page faults when references tw pages accur in the

| 13) C-LOOK

ES N

following order; 1, 2, 4, 5, 2, 1, 2, 4, Assemc that the main memory can
acenmeodate 3 pages and the main memory already has the pages 1 and 2, with
pagze | having been brouelt saclier than page 2. (Assume LR algorithm s used)
)T

By 4

Y5

13 6 i

ajgorithm
A) Priority
B} FUES

In which of the following algorithm, the disk head moves from one end 1o the
other, servicing requests ulong the way, When the head reaches the other end, i
immediately retuens to the beginning of the disk without servicing any Tequests on
the retur trip.

A) C-50CAN

) SCAN

[ Mimimum average w:ai'r:n;g time i given by which of the flluwing scheduling |

Gy EO0K

Which of the following relational algehraic operator can b nacd te display a subset |
ol the teples from a relation '
A Cimepa

B Sigma

L Fi

iHlambda e m
Which of the following is minimal key for relation R (A, B, € 13 having
follewing functional dependencies:

AR, H2C, ACSD

AT A

EYRE

o0

W hich of the following cnsures the durability property of a transaction
A} Transaction Manapement

B Application Programmer

C) Recovery Manopement

121 Concurreney Contral

[ED

Which of the folawing rule 1= not true for B -leeet
A} Ifthe root is not a leat node, it rmust have at least two chaldren

1) Leaf nodes ure linked in ovder of key values

) The teze must ahways be balanced

) The numbrer of key values contained in a non- lcaf node are always more thamn

the number of painters

(5}



A multiplicity

B} domain
C) cordimaliry
| [3) degree , — .
ql I Moore muachine, the output depeade on
A presenl slate onjy
B presoot input ondy
) present stale und present input
3} neither present stara nor input
42 Which ol the fullowing statcmient is nor tre B
i | A} Every language that is defined by vegular expression can also be defined by
finite muatamata
B} Context-sensitive aramimirs ate type-1 prammars
C Linear bounded sutomation recogrimess type-{ grammmur
[ For every nondetzrnanistic Nintte avtomaton, 4 delerminisdic mite automaton
| can he found A
43 | Which of the following tvpe of production is nei aliowed in Greibach Mormal
Forre:
A A—all
| H:| A
O AaBr
[ A=¥a -
&4 A PO can recoynixe
A context-free language
B} context-zenzitive languzac
[ ) types O lumpuz e
I 17} anv lunyuege -
3 A& T can™t solve halting problem is
Al troe
[y fulze
€1 shill an open Guestien
13} tautalogy
44 1A progeam P ealls two subprograms P1oand P20PI can fail 5094 Limes and P2 can |
faif 40% times, The program P can fail:
AED %
| BY 7%
Cr el %
1 45%
a7 | Configuration Management is ot concerned with

A manapig changes b the sourcs codo

B} handling docamentation changes

') choiee nf herdware configuration for an application
T} maintaining versions of softwars

{6



Which of the following s normally considered as an adjunct 1o the coding step

Cohesion is a qualitative indication of the degree to which 2 module
A) can be writien more compactly

1Y is connected o other modules
| D} iz able v complete its unction in & timely manner

| D) Integration testing approach

4l
A} pepression testing
B svstem testing
) infegration testing
B3} unit lesting
449
{ B feuses on just one thing
50 | Basis Path Testing is

A} White Box testing technigue
B} Black Box testing technique
C) Grey Box testing fechnique

o X X

&



